BID RESULTS CK09MERCER2017-11 CONCRETE FOR THE COUNTY OF MERCER AND THE MERCER COUNTY COOPERATIVE CONTRACT PURCHASING SYSTEM		
CONTRACT TERM: ONE (1) YEAR WITH THE OPTION TO EXTEND ONE (1) YEAR BASED UPON INDEX RATE		
NO. OF RESPONDENTS:	1	
NAME OF BIDDER	MERSHON CONCRETE LLC	
ADDRESS	RT. 130, PO BOX 254	
CITY, STATE, ZIP	BORDENTOWN, NJ 08505	
CONTACT	PATRICK T. GREBER	
TELEPHONE	609 298 2150	
FAX	609 298 7969	
E-MAIL	RDMIX@COMCAST.NET	
JOB MIX	CHRIS MARKLEY TO REVIEW	
INSURANCE REQUIRED FROM AWARDED VENDOR	NO	
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	
NEW JERSEY BUSINESS REGISTRATION	OK	
STOCKHOLDER DISCLOSURE	SIGNED AND DATED	
EXHIBIT A	INCLUDED	
IRAN CERTIFICATION	SIGNED AND DATED	
EIC	8255 EXPIRES 5.15.19	
HOLD PRICING BEYOND 60 DAYS	YES	
EXTEND TO COUNTY COOPERATIVE MEMBERS	YES	
CONTINUITY OF SERVICE	WILL PROVIDE, PAGE 50	
EXCEPTIONS	YES; COLORS RANGE FROM 4.46 LBS. TO 45.8 LBS. PER CUBIC YARD	

NO

FATAL FLAW

CK09MERCER2017-11 CONCRETE FOR THE COUNTY OF MERCER AND THE MERCER COUNTY COOPERATIVE CONTRACT PURCHASING SYSTEM FOR A PERIOD OF ONE (1) YEAR WITH THE OPTION TO EXTEND ONE (1) YEAR BASED ON THE INDEX RATE

CONCRETE DESCRIPTION	ESTIMATED QUANTITY	COST PER UNIT	TOTAL
CONCRETE (LESS THAN FOUR CUBIC YARDS)			
CLASS A, AIR ENTRAINING, 4600 PSI, DELIVERED (COST PER CUBIC YARD)	110	\$182.00	\$20,020.00
CLASS B, AIR ENTRAINING, 3700 PSI, DELIVERED (COST PER CUBIC YARD)	120	\$181.00	\$21,720.00
UPCHARGE TO ADD FIBER (POUNDS)	110	\$6.50	\$715.00
UPCHARGE TO ADD COLORATION (POUNDS)	400	\$3.25	\$1,300.00
WATER REDUCING ADMIXTURE (GALLONS)	26	N/C	, , , , , , , , , ,
SUPER PLASTICIZER (GALLONS)	105	\$6.70	\$703.50
SET RETARDER (GALLONS)	32	\$3.30	\$105.60
4" DEPTH X 10' LONG, EXPANSION JOINT (EACH)	300	\$4.00	\$1,200.00
6" DEPTH X 10' LONG, EXPANSION JOINT (EACH)	150	\$6.00	\$900.00
TOTAL			\$46,664.10
CONCRETE DELIVERED (GREATER THAN FOUR CUBIC YARDS)			
CLASS A, AIR ENTRAINING, 4600 PSI, DELIVERED (COST PER CUBIC YARD)	400	\$145.00	\$58,000.00
CLASS B, AIR ENTRAINING, 3700 PSI, DELIVERED (COST PER CUBIC YARD) DOT: 800, BG: 120, AND PC: 150	1070	\$143.00	\$153,010.00
UPCHARGE TO ADD FIBER (POUNDS)	400	\$6.50	\$2,600.00
UPCHARGE TO ADD FIBER (FOUNDS)	400	\$3.25	\$1,300.00
WATER REDUCING ADMIXTURE (GALLONS)	150	N/C	ψ1,000.00
SUPER PLASTICIZER (GALLONS)	599	\$6.70	\$4,013.30
SET RETARDER (GALLONS)	180	\$3.30	\$594.00
4" DEPTH X 10' LONG, EXPANSION JOINT (EACH)	200	\$4.00	\$800.00
6" DEPTH X 10' LONG, EXPANSION JOINT (EACH)	100	\$6.00	\$600.00
TOTAL			\$220,917.30
GRAND TOTAL	<u> </u>		\$267,581.40
MISCELLANEOUS: % UP-CHARGE TO WHOLESALE FOR MATER	RIALS THAT ARE NOT R	EFERENCED	100%
AFTERHOURS OR SATURDAY DELIVERY CHARGE PER TRUCK			\$75.75
*MOBILE MIX CONCRETE IS PERMITTED FOR DELIVERIES REQU	IRING LESS THAN FOU	IR CUBIC YARDS	

CK09MERCER2017-18 ONE (1) CASE CX210D, OR EQUIVALENT, NARROW EXCAVATOR FOR THE COUNTY OF MERCER AND THE MERCER COUNTY COOPERATIVE PURCHASING CONTRACT SYSTEM

BID OPENING DATE: OCTOBER 19, 2017 NO. OF RESPONDENTS: NAME OF RESPONDENT HOFFMAN INTERNATIONAL, INC. GROFF TRACTOR NEW JERSEY, LLC PENN JERSEY MACHINERY LLC ADDRESS 300 SOUTH RANDOLPHVILLE ROAD 551 N HARDING HIGHWAY 120 GORDON DRIVE CITY, STATE, ZIP PISCATAWAY, NJ 08854 VINELAND, NJ 08360 LIONVILLE, PA 19341 CONTACT **ERIC SEIKEL** KAREN GIBISON TIM DONAHUE TELEPHONE 732 752 3600 856 697 1414 856 812 5114 FAX 732 968 8371 856 697 4842 856 227 0046 E-MAIL ERIC.SEIKEL@HOFFMANEQUIP.COM KARENGIBISON@GROFFTRACTOR.COM TDONAHUE@PJMVOLVO.COM INSURANCE INDEMNIFICATION PAGE SIGNED AND DATED SIGNED AND DATED SIGNED AND DATED INSURANCE REQUIRED FROM AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED **VENDOR** STOCKHOLDER DISCLOSURE CERTIFICATE SIGNED AND DATED SIGNED AND DATED SIGNED AND DATED BUSINESS REGISTRATION CERTIFICATE OK OK OK EIC EXPIRES 02.15.19 EXPIRES 07.15.18 EXPIRES 10.15.20 EXHIBIT A **INCLUDED INCLUDED** INCLUDED IRAN CERTIFICATION SIGNED AND DATED SIGNED AND DATED SIGNED AND DATED EXTEND TO CO-OP YES YES YES HOLD PRICING BEYOND 60 DAYS YES YES YES CALL VENDOR TO CONFIRM HOLD PRICING FIRM FOR ONE (1) YEAR YES YES YES-DELIVERY DATE EXTENDED UNTIL YES-SEE CATEGORY FOR MACHINE **EXCEPTIONS SPECIFICATIONS** MARCH 2018 NO MATH ERROR ON GRAND TOTAL FATAL FLAW NONE NONE

	HOFFMAN		PENN JERSEY
PROPOSAL	INTERNATIONAL, INC.	GROFF TRACTOR NEW JERSEY, LLC	MACHINERY LLC

PROPOSAL	INTERNATIONAL, INC.	GROFF IRACIOR NEW JERSEY, LLC	MACHINERY LLC
INIT COST FOR ONE (1) CASE CX210D, OR EQUIVALENT, NARROW EXCAVATOR	\$200, 608.97	\$175,687.00	\$186,050.00
MANUFACTURER	JCB	CASE	VOLVO
MODEL	JS220NLC	CX210 DNRRW	EC220E
YEAR	2018	2018	2018
DELIVERY DATE	90 DAYS ARO	03.15.18	60-90 DAYS ARO
ADD ALTERNATE ONE	\$39,124.44	\$38,739.00	\$56,575.00
MANUFACTURER	ATLAS COPCO	ATLAS COPCO	NPK
MODEL	MB1650 HAMMER	MB1700 HYD BREAKER	GH10
YEAR	2017	2018	2018
DELIVERY DATE	30 DAYS ARO	10.2017	30 DAYS ARO
ADD ALTERNATE TWO	\$15,984.44	\$14,293.00	\$69,200.00
MANUFACTURER	STRICKLAND	Strickland	NPK
MODEL	CP-40 PULVERISER	CP-40 PULVERISER	M20G
YEAR	2017	2018	2018
DELIVERY DATE	30 DAYS ARO	10.2017	30 DAYS ARO
ADD ALTERNATE THREE	\$60,656.67	\$59,041.00	\$65,625.00
MANUFACTURER	ATLAS COPCO	ATLAS COPCO	NPK
MODEL	BC2500	BC2500 JAW CRUSHER	U21JRA
YEAR	2017	2018	2018
DELIVERY DATE	30 DAYS ARO	10.2017	30 DAYS ARO
TOTAL COST	\$316,374.52	\$287,760.00	\$377,450.00

AB2017-11B MERCER OAKS GOLF COURSE BATHROOM RENOVATION FOR THE MERCER COUNTY PARK COMMISSION

BID OPENING DATE: OCTOBER 20,2017

ONE ADDENDUM ISSUED				
NO. OF RESPONDENTS:	10			
NAME OF BIDDER	J.H WILLIAMS ENTERPRISES	LEVY CONSTRUCTION COMPANY, INC.	HELIOS CONSTRUCTION ,INC.	GOLDEN CROWN CONTRACTORS,INC.
ADDRESS	231 HAINES DRIVE	132 CUTHBERT BOULEVARD	1315 ALLENHURST AVENUE	4099 SOUTH BROAD STREET
CITY, STATE, ZIP	MOORESTOWN, NJ 08057	AUDUBON, NJ 08106	OCEAN, NJ 07712	YARDVILLE , NJ 08620
CONTACT	JAMES H. WILLIAMS	SIMON LEVY	STEVE SOURIAS	CHRISTINE LUIZZA-MCGUIRE
TELEPHONE	856-793-7114	856- 547 -0707	732-663-0200	609-585-0265
FAX	856-222-0017	856 -547- 2424	732-663-0206	609-585-2775
E-MAIL	MPW@JHWILLIAMSINC.COM	SIMON@LEVYCONSTRUCTION.COM	HELIOSCONSTRUCTION@YAHOO.COM	GOLDEN CROWN CONTRACTORS, INC.
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
INSURANCE REQUIRED FROM AWARDED VENDOR	YES	YES	YES	YES
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
BID GUARANTEE	WESTERN SURETY COMPANY 10% NTE 20K	GREAT AMERICAN INSURANCE COMPANY 10% NTE \$20K	SELECTIVE INSURANCE COMPANY OF AMERICA 10%NTE \$20K	THE GUARANTEE COMPANY OF NORTH AMERICA USA 10% NTE 20K
CONSENT OF SURETY	richard K. Strong aif with poa	JOSEPH M MCGLONE AIF WITH POA	DAWN M. JONES AIF WITH POA	MICHELE A.DERY AIF WITH POA
REFERENCES AND EXPERIENCE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
PW CONTRACTOR REGISTRATION	20496 EXPIRES 11.19.17	62577 EXPIRES 4.8.18	604425 EXPIRES 4.3.18	603521 EXPIRES 3.31.18
PLUMBING SUB CONTRACTOR	PJM MECHANICAL CONTRACTORS. ,604648, EXPIRES 05.02.2018,BRC OK/MASTER PLUMBERS LICENSE #36BI00669400 EXPIRES6.30.19	DRISCOLL MECHANICAL LLC.,639312 EXPIRES 8.15.19.,BRC OK/MASTER PLUMBERS LICENSE #36BI01194800 EXPIRES 6.30.19	PJM MECHANICAL CONTRACTORS,INC. 604648 EXPIRES 5.2.18.,BRC OK/MASTERS PLUMBERS LICENSE #36B100669400 EXPIRES 6.30.19	PJM MECHANICAL CONTRACTORS,INC. 604648 EXPIRES 5.2.18.,BRC OK/MASTERS PLUMBERS LICENSE #36BI00669400 EXPIRES 6.30.19
HVAC SUB CONTRACTOR	DJ WAGNER HEATING AND AIR CONDITIONING.,604375 EXPIRES 05.27.18,BRC OK, HVACR CONTRACTORS LICENSE #19HC00296400 EXPIRES 6.30.18	DRISCOLL MECHANICAL LLC639312 EXPIRES 8.15.19.,BRC OK/HVACR CONTRACTORS LICENSE #19HC00200200 EXPIRES 6.30.18	HANNAH MECHANICAL CONTRACTORS,INC. 662270 EXPIRES 3.11.18., BRC OK.,/HVACR CONTRACTORS LICENSE #19HC00207900 6.30.18	BIG B CONTRACTING INC.,620826 EXPIRES 5.6.18.,BRC OK/HVACR CONTRACTORS LICENSE#19HC00540300 6.30.18
ELECTRIC SUB CONTRACTOR	MJF ELECTRIC CONTRACTING INC. 619432 EXPIRES 11.27.17,BRC OK,ELECTRICAL CONTRACTORS LICENSE #34EB01289200 EXPIRES 3.31.18	MJF ELECTICAL CONTRACTING, INC., 619432 EXPIRES 11.27,17, BRC OK, ELECTRICAL CONTRACTORS LICENSE #34EB01289200 EXPIRES 3.31.18	DFW ELECTRIC INC.,606079 EXPIRES 6.18.18.,BRC OK/ELECTRICAL CONTRACTORS LICENSE #34EI01009500 EXPIRES 3.31.18	MJF ELECTICAL CONTRACTING, INC., 619432 EXPIRES 11.27.17, BRC OK ELECTRICAL CONTRACTORS LICENSE #34EB01289200 EXPIRES 3.31.18
BIDDER OR SUB DEBARRED	NO	NO	NO	NO
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK
STOCKHOLDER DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
non-collusion affidavit	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
PREVAILING WAGE CERTIFICATION	OK	ОК	OK	OK
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EXHIBIT B	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
GRAND TOTAL	\$245,000.00	\$251,600.00	\$263,000.00	\$293,295.00
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES
EXCEPTIONS	NONE	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE	NONE

AB2017-11B MERCER OAKS GOLF COURSE BATHROOM RENOVATION FOR THE MERCER COUNTY PARK COMMISSION

BID OPENING DATE: OCTOBER 20,2017

ONE ADDENDUM ISSUED				
NO. OF RESPONDENTS:	10			
NAME OF BIDDER	SCOZZARI BUILDERS	ASCEND CONSTRUCTION	MASSIMINO BUILDING LLC	V&K CONSTRUCTION INC.
ADDRESS	1891 NORTH OLDEN AVENUE	3327 SUNSET AVENUE	131 S. SYCAMORE ST.	37 BARTHA AVE
CITY, STATE, ZIP	TRENTON ,NJ 08638	OCEAN, NJ 07712	NEWTOWN,PA 18940	EDISON, NJ 08817
CONTACT	leonard J. Scozzari	EVANGELICA SWANOP	BRIAN N. WELCH	PANTELIS KOUNELIAS
TELEPHONE	609-989-1221	732- 898- 7500	215-497-8490	732-572-7188
FAX	609-989-1262	732 -898 -7501	215-497-8491	732-572-1797
E-MAIL	LSCOZZARI@SCOZZARI.COM	ASCEND95@AOL.COM	BRIAN@MASSBLDGCORP.COM	VKCONNJ@GMAIL.COM
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
INSURANCE REQUIRED FROM AWARDED VENDOR	YES	YES	YES	YES
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
BID GUARANTEE	AEGIS SECURITY INSURANCE CO. 10% NTE \$20K	COLONIAL SURETY COMPANY 10% NTE 46K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE AMOUNT OF BID DOLLARS	NAVIGATORS INSURANCE COMPANY 10% NTE 20K
CONSENT OF SURETY	RICHARD V. DOBBS JR. AIF WITH POA	EVANGELICA SWANOP AIF WITH POA	DREW W.GARIS AIF WITH POA	BRUCE M. ALLEN AIF WITH POA
REFERENCES AND EXPERIENCE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
PW CONTRACTOR REGISTRATION	589040 EXPIRES 4.17.18	604555 EXPIRES 4.4.18	640643 EXPIRES 3.20.18	19802 EXPIRES 6.8.19
PLUMBING SUB CONTRACTOR	SUNNYFIELD CORP., 604184 EXPIRES 4.4.18, BRC OK, MASTER PLUMBERS LICENSE #36BI00853200 EXPIRES 6.30.19	PIPE CRAFT INC., 609932 EXPIRES 4.6.19., BRC OK MASTER PLUMBERS LICENSE #36BI01174500 EXPIRES 6.30.19	PIPE CRAFT INC., THERE PWC, BRC NOT INLCUDED IN BID MASTER PLUMBERS LICENSE #36BI01174500 EXPIRES 6.30.19	PETER HYWEL PLUMBING &HEATING INC., 624665 EXPIRES 6.9.18.,BRC OK MASTER PLUMBERS LICENSE #36B100966700 EXPIRES 6.30.19
hvac sub contractor	SUNNYFIELD CORP., 604184 EXPIRES 4.4.18, BRC OK, HVACR CONTRACTORS LICENSE #19HC00116400 EXPIRES 6.30.18	PIPE CRAFT INC., 609932 EXPIRES 4.6.19., BRC OK., HVACR CONTRACTORS LICENSE#19HC00075000 EXPIRES 6.30.18	MCCLOSKEY MECHANICAL THERE PWC, BRC , AND LICENSE NOT INCLUDED IN BID	PHOENIX HVAC.,664465 EXPIRES 7.21.18., BRC OK., HVACR CONTRACTORS LICENSE#13VH04572800 EXPIRES 3.31.18
ELECTRIC SUB CONTRACTOR	ZSENAK ELECTRIC CO. INCORPORATED.,643374 EXPIRES 3.18,19,BRC OK.,ELECTRICAL CONTRACTORS LICENSE #34EB01152000	MJF ELECTICAL CONTRACTING, INC., 619432 EXPIRES 11.27.17, BRC OK, ELECTRICAL CONTRACTORS LICENSE #34EB01289200 EXPIRES 3.31.18	MJF ELECTICAL CONTRACTING, INC., THERE PWC, BRC NOT INLCUDED IN BID ELECTRICAL CONTRACTORS LICENSE #34EB01289200 EXPIRES 3.31.18	TZ ELECTRICAL CONTRACTING LLC., 683291 EXPIRES 7.18.19., BRC OK,. ELECTRICAL CONTRACTORS LICENSE #34EB01176200 EXPIRES 3.31.18
BIDDER OR SUB DEBARRED	NO	NO	NO	NO
NEW JERSEY BUSINESS REGISTRATION	ОК	OK	ОК	ОК
STOCKHOLDER DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
non-collusion affidavit	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
PREVAILING WAGE CERTIFICATION	OK	OK	OK	OK
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EXHIBIT B	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
GRAND TOTAL	\$295,800.00	\$309,000.00	\$312,313.00	\$313,000.00
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES
EXCEPTIONS	NONE	NONE	YES	NONE
FATAL FLAW	NONE	NONE	SUB CONTRACTOR PAPER WORK NOT SUBMITTED	NONE

AB2017-11B MERCER OAKS GOLF COURSE BATHROOM RENOVATION FOR THE MERCER COUNTY PARK COMMISSION

BID OPENING DATE: OCTOBER 20,2017

ONE ADDENDUM ISSUED			
NO. OF RESPONDENTS:	10		
NAME OF BIDDER	desapio construction inc.	SALAZAR & ASSOCIATES INC.	
ADDRESS	280 RIDGE RD	625 RAHWAY AVE	
CITY, STATE, ZIP	FRENCHTOWN,NJ 08825	UNION, NJ 07083	
CONTACT	VINCENZO DESAPIO	ORLANDO SALAZAR	
TELEPHONE	908-996-3888	908-206-1275	
FAX	908-996-3610	908-206-1584	
E-MAIL	JIM.DESAPIO@DESAPIOCONSTRUCTION.COM	MAIL@SALAZAR-ASSOCIATES.COM	
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	
INSURANCE REQUIRED FROM AWARDED VENDOR	YES	YES	
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	
BID GUARANTEE	OLD REPUBLIC INSURANCE COMPANY 10% NTE 20K	U.S SPECIALTY INSURANCE CO. 10% NTE 20K	
CONSENT OF SURETY	LISA A.POST AIF WITH POA	BRUCE M.ALLEN AIF WITH POA	
references and experience	INCLUDED	INCLUDED	
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	
PW CONTRACTOR REGISTRATION	67230 EXPIRES 4.28.18	605341 EXPIRES 5.3.18	
PLUMBING SUB CONTRACTOR	PJM MECHANICAL CONTRACTORS604648, EXPIRES 05.02.2018,BRC OK/MASTER PLUMBERS LICENSE #36B100669400 EXPIRES6.30.19	PERFORMED IN HOUSE , BRC OK ., MASTER PLUMBERS LICENSE #36B100957400 EXPIRES 6.30.19	
HVAC SUB CONTRACTOR	PJM MECHANICAL CONTRACTORS. ,604648, EXPIRES 05.02.2018,BRC OK/HVACR CONTRACTORS LICENSE#19HC00113400 EXPIRES 6.30.18		
ELECTRIC SUB CONTRACTOR	DFW ELECTRICAL INC., 606079 EXPIRES 6.18.18 ELECTRICAL CONTRACTORS LICENSE #34E101009500 EXPIRES 3.31.18	BOOSHARD ELECTRIC INC. 608085 EXPIRES 8.21.18 ELECTRICAL CONTRACTORS LICENSE #34EI10486300 EXPIRES 3.31.18	
BIDDER OR SUB DEBARRED	NO	NO	
NEW JERSEY BUSINESS REGISTRATION	ОК	ОК	
STOCKHOLDER DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED	
non-collusion affidavit	SIGNED AND DATED	SIGNED AND DATED	
PREVAILING WAGE CERTIFICATION	ОК	ОК	
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	
EXHIBIT B	INCLUDED	INCLUDED	
AA201	REQUIREDIF AWARDED	REQUIRED IF AWARDED	
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	
GRAND TOTAL	\$348,760.00	\$365,000.00	
HOLD PRICING BEYOND 60 DAYS	YES	YES	
EXCEPTIONS	NONE	NONE	
FATAL FLAW	NONE	NONE	